20196 CEL LA—F 1) —XPOINT

EX-FF D) —AREANET MS-K D) —AREHBMET
FS1/\—K& Rd1 Rd2 Rd3 Rd4 &&t FS1/\—K& Rd1 Rd2 Rd3 Rd4 &&t
1 OBHF FEABE 15 20 6 20 61 1| AKX EF 20 20 20 12 72
2| BRBF &% 20 15 8 43 2l B8 K 15 15 12 42
3| A weth 20 10 30 3| FI¥ B8N 6 12 15 8 41
[ 4] BW =E5A 10 12 22 4| AREH BA 12 10 8 10 40
5| BAX BX 15 15| L[5l 5D G 20 20
6| B8 1L 15 15 6| R F= 15 15
1 AN =6 12 12 1 8% B 8 6 14
8| FH =5 8 8 8] PE F7+KX 10 10
9| #pRK  BARB 10 10
EX-FR V) —AREBMET 10| MR #&F 8 8
FS1/\—K& Rd1 Rd2 Rd3 Rd4 &&t
| g F&8 20 20 8 15 63 MS-1 ) —AREAIET
2| fA F0sh 15 15 12 12 54 FS1/\—K& Rd1 Rd2 Rd3 Rd4 &&t
3] MHF RIC 10 20 30| Ll BA SX 20 20 40
4 AHE 1B 10 12 4 26 2| Do T 15 5 5 25
| 5] 8 BX 20 20 3] ER RRE 15 15
6| EFL  FO9h 8 8 16
71 PH 8 6 10 16 MS-2 V) —AREOHET
8] HEH B2z 15 15 FS1/\—K& Rd1 Rd2 Rd3 Rd4 &%
9] BEO A 12 12 1| EE = 20 10 20 12 62
0] 52 FHE 10 10 2l BF & 10 15 15 10 680
1| [ BE 3 3 3] HELD2H 12 20 10 O 42
4 BB = 15 4 15 34
EX-4WD ) —AREAIET 5| 15X %a) ) 6 6 6 6 24
FSA/N—K¥E Rd1 Rd2 Rd3 Rd4 &&t| |6l HE 20 20
1| S (&0 5 20 5 30 71 FIX H%Z( 3 12 15
2| K% M 15 5 20 8| B T/ 8 2 4 14
9| NH {FESE 12 12
N-ONE ) —AREAIET 10] St J#5A 8 3 11
FS1/\—K& Rd1 Rd2 Rd3 Rd4 &% 11 PH F0E 8 3 11
1| FE R 20 20 40| [12] &K RE @) @) 2 8 10
2l B 8. 15 5 15 35| |13 &8 SE 4 1 4 9
14| DOEE (25 3 3
OPEN V) —AREHE 15| R F 2 2
FS1/\—K& Rd1 Rd2 Rd3 Rd4 &% 16| $¥H FPE 2 2
1| 1BE U 15 20 15 5 55| 17| kB ESEF A @) 1
2l BA Sk 12 20 32| |18) HP F 1 1
3] hiE FEE= 10 15 25| [19] E£¥F BX @) 0]
4 B 84 20 20| [20] fE & @) 0] 0]
MS-SC/D ) —AREAIET
FS1/\—K& Rd1 Rd2 Rd3 Rd4 &&t
1| FIE IER 5 5 12 @ 22
2 flu\rETa K_ 20 20
3] {PE K 15 15
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